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restart:
mM=3.65;n:=3;d:=6;
eq l:=i=(1/w)-h/(2*m*(1+z)*w"2):
eq2:=m 2% (12" D=m*(1+2) " n*w*d-(n*b " 2)/(4*w2);
z:=0.016;
1 01075268817 &

gl =i=—"-

. . - W ] 2
m=455 n=2 JF=5 (1+2z2) w
2
, 2 25
gl =216225- 2162252 =8370(1+2) W—_—‘z*
4 w

Z=0016
forifrom 1 by 0.1 to 2 do
print(i),

solve({eql,eq2},{b,w})
end do;

{w= 04729363097, 5= 2355273392}, { w= 27797066030, b= -47 49450587 }
1.1

{ b= 21474181493, w= 045267414530}, { 5= -37.803262%1, w= 2415036545}
1.2

{w= 04345516308, b= 1.964881220}, { 5= -30.70034330, w= 2.114081244}
1.3

{5= 1803233598, w= 04181860693}, {w= 1871756262, b= -25.34883145}
1.4

{w= 04033796998, b= 1659005608}, { w= 1673152208, b= -21.22258523}
1.5

(w= 03895040461, 5= 1529442280}, { = -17.97780687, w= 1.50757/4851}

YoV



1.6

{ b= 1412328933, w= 0.3775885648}, { b= -15.38253750, w= 1.268506177}

1.7

{w= 03652923454, 5= 1305854448}, { b= -13.27587653, w= 1249625488}

1.8

{ 5= 1208538564, w= 03558370425}, {5=-11.543408029, w= 1147189261}

1.3

{w= 03463067273, b= 1119142928}, { w= 1.058126109, b= -10.10239741}

2.0

{w= 03374353328, b= 1036629031}, {b=-8.891232841, w= 0.98005530

).4729365097; b := 2.355279392;

F(1+z) w2

1=m*(1+z)*w;

=b/(2*w);

“beta/(m*(1+z));

=Int(exp(-alpha*x”"2-
ta*x)(1+(alpha*x+beta)*2/(m"2*(1+z)"2))*x"7,x=0..infinity

=Int(exp(-alpha*x"2-
ta*x)(1+(alpha*x+beta)”2/(m”2%(1+2)"2))*x"5,x=0..infinity

valf(eq3)/evalf(eqd));

e
22}

);
w=D0.4729265097 b =72355278392 g = 1056701551
o = 2234241246 B o=2.490058754 o= 24635317452
[&] 5
f (=2.234341246 2° ~ 4930117508 :()J ) 0 7
so3=| \e (1 + 0.04480295699 (2234341246 x+ 2.490058754)) x'



A0

J | (=2.234341246 5 — 4930117508 X)J ) - 5 =5
oqd = (1400480205699 (2 234341246 5+ 2490058754)%) 5~ dfe
0
$=0.5568178773 0.7462023032
eqS:=a*x"2+b*x-c¢/x;
plot(eq5,x=0..2,y=-100..10);
plot(eqS,x=0..1,y=-100..0);
2 /,,635317452
eg3 = 1056701551 & +2.395279392 5~ ————
-
¥ y
D: 02040805 1 121451572 D2 04 0B 08 1
I 0 ——
4 i //‘
204 20
41 T 4
40 409 |
¥ ] y ]
-B0 7 -60
-50 -804
-100- 1004

eq6:=exp(-alpha*x"2/2-beta*x);
eq7:=(alpha*x+beta)/(m*(1+z))*eqb6;

 (-1117170623 x° — 2.490058754 x)
egd=e

eg7=0.2116670900 (2.234341246 x+ 2.490058754) e

with(plots):
plot(eq6,x=0..2);
plot(eq7,x=0..2);

Warning,

pl:=plot(eq6,x=0..2,color=blue):
p2:=plot(eq7,x=0..2):
display(pl,p2);

V- ¥

(~1.117170623 5° — 2 490058754 )

the name changecoords has been redefined
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solve(eqb=eq7,x);
1.000000000
w :=0.4526741490; b :=2.147418149;

ar=m*(1+z)*w"2;

alpha:=m*(1+z)*w;

beta:=b/(2*w);

¢:=5%beta/(m*(1+z));

eq3:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)*2/(m”"2*(1+2)"2))*x"7,x=0..infinity);
eq4:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)"2/(m"2*(1+2)"2))*x"5,x=0..infinity);
t:=(evalf(eq3)/evalf(eqd));

sqri(t);
2=0.9630951592 o =2.138613750 B =2371924876 ¢=2.510292181

2
L(—2.138613750}{“—4.743’849752,?)] . 57
=| \e (14 0.04480295699 (2. 133613750 x+ 2.371924876)°) x’ dx

eI =
¢
feo] 5 \
[ (=2 138613750 ™ — 47743849752 X)J - _ - 2.5
egd = a {14 0.04480295699 (2.138613750 5+ 2.371924876) "y 5~ ox
0

0.5944444367  0.77710022287
eqd:=a*x"2+b*x-c/x;
plot(eq5,x=0..2,y=-100..10);
plot(eqS,x=0..1,y=-100..0);

1

25102521381

egt = 0.96808515592 & +2.147418149 x—
x

V-0
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X

0] D}?ﬁ&@og 11204001872 . 02 04 08 08 |
20 Hl,f"/ 0 _ e
¥ -40-5{1 40 ‘,x
_BD-;{ ' Y &0 f
-80 _" -BD—S |
-1o0° -1003!

eqo:=exp(-alpha*x"2/2-beta*x);
eq7:=(alpha*x+beta)/(m*(1+z))*eqb;
(=1.069306875 = — 2371924876 #)
egf=e
o  (—1.069306875 x° — 2 371924876 ;
eg7=0.2116670900 (2. 138613750 x+ 2.371924876 ) e

pl:=plot(eq6,x=0..2,color=blue):
p2:=plot(eq7,x=0..2):
display(pl.p2);

"I

A\
ool \
\\
\‘\
0.6 \\
\\
o h \\
\_\‘\
02 A RN
T —
o 02 04 0B o8 1\12; 14 16 18 2
with(plots):

plot(eq6,x=0..2);
plot(eq7,x=0..2);
solve(eq6=eq7,x);
1100000000
b :=1.964881220; w =0.4345316308;

). F



ar=m*(1+z)*w"2;

alpha:=m=*(1+z)*w;

beta:=b/(2*w);

c:=5%beta/(m*(1+z));

eq3:=Int(exp(-alpha*x"2-

2*peta*x)(1+(alpha*x+beta) 2/(m"*2*(1+2)"2))*x"7,x=0..infinity);
eq4:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)*2/(m*2*(1+2)"2))*x"5,x=0..infinity);
t:=(evalf(eq3)/evalf(eqd));

sqrt(t);
g=05650951592 ot = 2.138613750 B =2.170304207
o= 2. 2963058880

(€o}

( (=2.138613750 ¥° — 4 240608414 X)] 0 7
3= \e J(1 +0.04480295699 (2.138613750 x+ 2.170304207)°) ' e

0

( (—2.138613750 X2 —4.340608414 X)) 2.5
epd = e {1+ 004480295699 (2.138613750 x+ 2.170304207)7) x~ dx

= 06365947108 07978688556
eq5:=a*x"2+b*x-c/x;
plot(eq3,x=0..2,y=-100..10);

plot(eq5,x=0..1,y=-100..0);
e 2 i 2. 286509880
23 =096309515%2 ¥~ + 1964881220 g— ———

g
. X
_ 02 04 0B 08 1
. 02040608 1 1.21.41:61:8°2 0] P
] //f ] )A-/
-20 (‘f ‘ED_: ;’/
1 1 ¢
-407 407 |
y ] y 11
-BDT’ -804 |
-801 -804
] ]
-100 : ool

eq6:=exp(-alpha*x”"2/2-beta*x);
eq7:=(alpha*x+beta)/(m*(1+z))*eq6;

i
_ (=1.069306875  — 2170304207 x)
egd = e

VoY



o i (-1 069306875 x° — 2 170304207 -
cg7 = 02116670200 (2.133613750 x+ 2.1703204207) e
with(plots):
plot(eq6,x=0..2);
plot(eq7,x=0..2);
pl:=plot(eq6,x=0..2,color=blue):
p2:=plot(eq7,x=0..2):
display(p1,p2);

a.6

Solve(eq6=eq7,x);x
1194276336
b :=1.803233598; w :=0.4181860693;

a:=m*(1+z)*w"2;

alpha:=m*(1+z)*w;

beta:=b/(2%w);

c:=5%beta/(m*(1+z));

eq3:=Int(exp(-alpha*x"2-
Z*beta*x)(l+‘(alpha*x+bet‘1)’\2/(m’\2*(1+z)’\2))*x’\7,x=0..inﬁnitv);
eqd:=Int(exp(-alpha*x"2-

2%beta*x)(1+(alpha* \+bcta)’\2/(m’\2*(l+L)’\2))*x 5,x=0..infinity);
t:=(evalf(eq3)/evalf(eq4));

sqrt(t);

g =018262011284 . =1975678266 P =2156018254 o =228179054%

oo
f(—1.975678266_y2—4.312036508x)) 5 7
cgi=| le . (1+0.04480295699 (1975678266 x+ 2.156018254)%) %' dix

0

Mool

( (=1.975678266 = — 4312036508 X)]
cqd = J1 + 004480295699 (1975678266 »+ 2 1560152542 » iz

0



$= 06721667757 0.8198577759
eqS:=a*x"2+b*x-¢/x;
plot(eq3,x=0..2,y=-100..10);
plot(eq5,x=0..1,y=-100..0);

2
egd=058262011284 x~ + 1503233598 x—
¥ X
102040608 1 121416182 02 04 0B 08B 1
oy 1 E————
4 ,./ 4 ] /.--" -~
20 1(‘ .20 (iff
14 ]
407 401
¥ ] ¥ 11
607 60
-BD": -BD':
-10o- -100°

eq6:=exp(-alpha*x”"2/2-beta*x);
eq7:=(alpha*x+beta)/(m*(1+z))*eqb;

(—0.98783%1330 V2 - 2.156018254 x)
e

sgd =
_ | _  (~0.9878391330 #° — 2156018254 7)
eq7 = 02116670900 (1 975678256 »+ 2. 136018254 ) e
with(plots):
plot(eq6,x=0..2);
plot(eq7,x=0..2);

pL:=plot(eq6,x=0..2,color=Dblue):
p2:=plot(eq7,x=0..2):
display(p1,p2);

08 \
\
0.5 A
' \
\
\\
0.4 \\. \\
~ \\
0.2 NN
he A
T
o ?..':_—M
a 02 04 08B 08B i 12 14 18 18 2

solve(eq6=eq7,x);x
1.300000000
b :=1.659005608; w :=0.4033796998;

VeQ



ar=m*(1+z)*w"2;

alpha:=m*(1+z)*w;

beta:=b/(2%w);

c:=5*beta/(m=*(1+z));

eq3:=Int(exp(-alpha*x"2-
2%beta*x)(1+(alpha*x+beta)”2/(m”"2*(1+2)"2))*x*7,x=0..infinity);
eq4:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)*2/(m*2*(1+z)"2))*x"5,x=0..infinity);
t:=(evalf(eq3)/evalf(eqd));

sqrt(t);
2= 07687316063 o =1905727054 B =2056382124 ¢ =2176342100

o

2
J ( (~1.905727054 =~ — 4.112764248 x)] 7
e

eq? = (1+0.04480295699 (1905727054 x+ 2.056382124)°) x' dx

0

200,

_ [ (=1.505727054 X2 - 4.112764248 x)] _ - S~ S
4 = e {14 0.0448029569% (1.905727054 x+ 2.056382124)" ) ™ dx

0

+=07124100364 0.3440435593
eqS:=a*x"2+b*x-¢/x;
plot(eg5,x=0..2,y=-100..10);
plot(eq5,x=0..1,y=-100..0);

i 2 2.176342100
2 3= 07687316068 x~ + 1.65%005008 x— —————

X
X X
102040808 1 121418162 07 DQJJ?:‘_‘“E«.B g8 .1
Ve ; /\/_._-
209/ : 209
1/ ] HK
-404] 407 |
W ff y ]
-607 -601
507 -801
1003
100 o0 il

eq6:=exp(-alpha*x"2/2-beta*x);
eq7:=(alpha*x+beta)/(m*(1+z))*eqb;

Yy



2l
- A (~0.9528635270 » — 2.056382124 =)
£q7 = 02116670300 (1.905727054 x+ 2.056382124) e

with(plots):

plot(eq6,x=0..2);
plot(eq7,x=0..2);
pl:=plot(eq6,x=0..2,color=blue):
p2:=plot(eq7,x=0..2):
display(p1,p2);
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solve(eq6=eq7,x);

1400000000
b :=1.529442280; w :=0.3899040461
a:=m*(1+z)*w"2;
alpha:=m*(1+z)*w;
beta:=b/(2*w);
c:=5%beta/(m*(1+z));
eq3:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)*2/(m*2*(1+z)"2))*x"7,x=0..infinity);
eq4:=Int(exp(-alpha*x"2-
2*peta*x)(1+(alpha*x+beta)*2/(m*2*(1+z)"2))*x"5,x=0..infinity);
t:=(evalf(eq3)/evalf(eq4));

sqri(t);
g=07182276905 o= 1842062675 P =1961305%987 ¢=2075719654

| (~1842062675 x ~ 3.922611974 X)J ) ) 5 7
fgi= (1+0.04480295699 (1.842062675 x+ 1.961305987)) 5 dx

(e8]
(~1.842062675 ;f2—34922611974;g)} . s
=1 le (1+0.04480295699 ( 1.842062675 x+ 1.961305987)°) ¥° dx

0

AR



eqS5:=a*x"2+b*x-c/x;
plot(eq5,x=0..2,y=-100..10);
plot(eq5,x=0..1,y=-100..0);

> 2. 075713654
egd=07182276505 x + 1.520442280 x— —————

X
X )4
102040608 1 121417182 b2 04 0B 08 1
0 P 0] e
v i 7
QD —.: |]‘{ '20 7 ({/r“)J
404 | 40 |
y ] ‘ y ] (
50 _'j [
] B0 7 I
'303 50 ]
-100 -100- ‘

eq6:=exp(-alpha*x"2/2-beta*x);
eq7:=(alpha*x+beta)/(m*(1+z))*eq6;

(~0.9210313375 £ — 1.961305987 )
£ =8

_ ] ) (=0.9210313375 5~ — 1.961305987 ;

cgl = 02116670900 (1.342062675 x+ 1.961305987) e
with(plots):
plot(eq6,x=0..2);
plot(eq7,x=0..2);

pl:=plot(eq6,x=0..2,color=Dblue):

p2:=plot(eq7,x=0..2):
display(p1,p2);

0.81 \

0.6 A,
\\
\
\-.
\
0.4 \\
~ N,
\
SN
. N
0.24 . AN
RN
B e \\

VY



solve(eqb=eq7,x);
1.500000000

w :=0.3775885648; b := 1.412326933;

a:=m*(1+z)*i’v'A2;

alpha:=m*(1+z)*w;

beta:=b/(2*w);

c:=5*beta/(m*(1+z));

eq3:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)*2/(m*2*(1+z)*2))*x*7,x=0..infinity);
eq4:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)”2/(m*2*(1+z)"2))*x*5,x=0..infinity);
t:=(evalf(eq3)/evalf(eq4));

sqrt(t);
a=0.6725724634

5

o= 1979291452

IS

o= 1733875816 p =1870192935

I§

OZ)/ N

) J | (~1783879416 *° — 3740385872 »)
cgd=| \e .

J(1+ 004480295699 (1783879416 »+ 1.870192936)°) =’ d
0

03

:

+=07360376632

( (—1.783879416 *° — 3.740335872 x)

e

egd ](1 1 0.04480295699 (1783379416 5+ 1.870192936)°) x dix

a

0.8922094279

eqS:=a*x*2+b*x-c/x;
plot(eq5,x=0..2,y=-100..10);
plot(eq5,x=0..1,y=-100..0);
s o 1.979251482
egd=067357:24684 x + 14123265933 x— ————

. ®
X
102040608 1 121416182  r—oi—22. 08 008 1
D ] "..,-~*"'"'——_ 1 /—""' -
] l/" ] e
=204 f«"' o
1
11 i f
_40—:1 -404 |
¥ 3 ]
B0+ -60 7
80 801
100 -100-

eq6:=exp(-alpha*x”"2/2-beta*x);

WYy



eq7:=(alpha*x+beta)/(m*(1+z))*eq6;

(~0.8319337080 :{2 — 1870192536 x)

cgi=e

=0  (~0.8919397080 5 ~ 1.270192936 ;
£g7= 02116670900 (1783879416 ¥+ 1.870192036) e

with(plots):

plot(eq6,x=0..2};
plot(eq7,x=0..2);
pl:=plot(eq6,x=0..2,color=blue):
p2:=plot(eq7,x=0..2):
display(p1,p2);

A

os] \

0.4 . \\\
- N
. N
0.2 \\
T
e
0TTTg2 T 04 0B 08 1 12 14 18 18 2
X

solve(eqb6=eq7,x);

599959509
b := 1.305854448; w :=.3662923454;
ar=m*(1+z)*w"2;
alpha:=m*(1+z)*w;
beta:=b/(2%w);
c:=5*heta/(m*(1+z));
eq3:=Int(exp(-alpha*x”"2-
2*beta*x)(1+(alpha*x+beta)*2/(m"2*(1+z)"2))*x"7,x=0..infinity);
eq4:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)"2/(m"2*(1+z)"2))*x"5,x=0..infinity);
t:=(evalf(eq3)/evalf(eq4));

sqri(t);
2:=06338721368 o =1730511557 B =1782530354 r=1.886515064

€3] .
( (~1.730511557 X2 - 3.565060708 X}J N 2.7
gy = e (1+0.04480295658 (1.730511557 »+ 1.782530354 )" ) x* dx

0

WY



.»-OOI/ .
‘ (-1.730511557 ¥ = 2.565060708 X)

cgd=| \e J(I +0.04480295659 (1.730511557 x+ 1782530354)%) 57 dr

0

#:=0.8385807327 0.9162863814

eqS:=a*x"2+b*x-c¢/x;
plot(eq5,x=0..2,y=-100..10);
plot(eq5,x=0..1,y=-100..0);

o 1.886515064
egt =06338731568 x + 1305854448 x— ————————

-
. | ] x
102040508 1 121415182 e NUNL UL
o 1
209/ -207 ﬁf
{ 11
40| -40
¥ ] ¥ ]
-60 7 -60 I
80 60 }
-1H0 -100-

eq6:=exp(-alpha*x”*2/2-beta*x);
eq7:=(alpha*x-+beta)/(m*(1+z))*eqb;
(—0.8652557785 x° - 1782530354 X)

sgi=e
(~0.8652557785 ;f2 - 1.782530354 :

g7 = 02116870900 (1730511557 x+ 1.782530354 ) e
with(plots):

plot(eq6,x=0..2);

plot(eq7,x=0..2);
pl:=plot(eq6,x=0..2,color=blue):
p2:=plot(eq7,x=0..2):

display(pl,p2);
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w :=(0.3558979429; b := 1.2085385064;

ar=m*(1+z)*w2;

alpha:=m*(1+z)*w;

beta:=bh/(2*w);

c:=5*beta/(m*(1+z));

eq3:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)*2/(m*2%(1+z)"2))*x*7,x=0..infinity);
eq4:=Int(exp(-alpha®x"2-
2*peta*x)(1+(alpha*x+beta)*2/(m"2*(1+z)"2))*x"5,x=0..infinity);
t:=(evalf(eq3)/evalf(eq4));

sqre(t);
g=0258240831058 o = 1681404241 B =16978723652 o=17%6918514

0 .
((-1.581404241.?5—339574473%)) 2. 7
sgi=| \e J(1+0.04480295699 (1.681404241 x+ 1.697872365)") = dix
0
00, R \
f(-1_581404241;:—“'—3.3957447303—)J ) s
ead=| \e (1+0.04480295699 (1.681404241 x+ 1.697872365)°) x° d
0
+=0.3843892797 0.9404197359

eqS:=a*x”"2+b*x-c¢/x;
plot(eqS,x=0..2,y=-100..10);
plot(eq3,x=0..1,y=-100..0);

. o - 1796918514
g5 =0 5984083109 »° + 1.208538564 y— ———————
x
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eq6:=exp(-alpha*x”"2/2-beta*x);
eq7:=(alpha*x+beta)/(m*(1+z))*eqb6;
(=0.3407021205 ¥° - 1.697872365 x)
cgh=e
_ (~0.8407021205 =° — 1.697872365 ;
27 =02116670900 (1.681404241 =+ 1.697872365) e
with(plots):
plot(eq6,x=0..2);
plot(eq7,x=0..2);
pl:=plot(eq6,x=0..2,color=blue):
p2:=plot(eq7,x=0..2):
display(p1l,p2);

0.8

0.21

0

solve(eqb6=eq7,x);
1.300000001
b :=1.119142929; w :=0.3463067273;
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ar=m*(1+z)*w"2;

alpha:=m*(1+z)*w;

beta:=b/(2%w);

c:=5*%beta/(m*(1+2));

eq3:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)*2/(m"2%(1+z)"2))*x 7,x=0..infinity);
eq4:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)"2/(m”2*(1+2)"2))*x"5,x=0..infinity);
t:=(evalf(eq3)/evalf(eq4));

sqri(t);
2=0566530433% o =1636091502 B=1615826146
o= 17100326052
0 ~ .
f (~1.636091502 x* ~ 3231652292 X)J 2. 7
egi=| \e (1+0.04480295699 (1.636091502 x+ 1.615826146)7) = dx

( (~1.626091502 x* — 3.231652202 X)J ) s
cgd=| \e (1+0.04480295699 (1.636091502 x+ 1.615826146)%) »° dv

$=029305545017 0.8646525250
eqS:=a*x"2+b*x-¢/x;
plot(eq5,x=0..2,y=-100..10);

plot(eqS,x=0..1,y=-100..0);
o 2 1710086052
= 05665334939 x7 + 1119142928 x— ———

gt =10, : ) -
x X
0-*9‘2 ;'Ef__ELE‘_ 08 1 Df U/-.,Z‘/Ejii_ﬂ_ﬁ_ﬂf 1 121416182
] ]/
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eq6:=exp(-alpha*x”"2/2-beta*x);
eq7:=(alpha*x+beta)/(m*(1+z))*eqb;

~ (~0.8180457510 ¥~ — 1.615826145 %)
sgd =e

VYA



B {-0.8180457510 :;'2 — 1615826146 x)
s =0.2116670900 (1.626091502 x+ 1.615826146) e

with(plots):

plot(eq6,x=0..2);
plot(eq7,x=0..2);
pl:=plot(eq6,x=0..2,color=Dblue):
p2:=plot(eq7,x=0..2):
display(pl,p2);
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solve(eq6=eq7,x);

1.900000000
b :=1.036629031; w :=0.3374353328;
ar=m*(1+z)*w"2;
alpha:=m*(1+z)*w;
beta:=b/(2*w);
c:=5*beta/(m*(1+z));
eqd:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)"2/(m”"2*(1+z)"2))*x*7,x=0..infinity);
eq4:=Int(exp(-alpha*x"2-
2*beta*x)(1+(alpha*x+beta)*2/(m"2*(1+z)*2))*x"5,x=0..infinity);
t:=(evalf(eq3)/evalf(eqd));
sqrt(t); A

g=0.5379324854 o =15%417948¢6 L =1536041028 = 1625646672

00 \
( (1594179486 +° — 3.072082056 X)J 5 7
eq?=| le (1+0.04480295699 (1.594179486 x+ 1.536041028)°) =" dx

N

g

t=0.9751743526 0.9830265726
eqS:=a*x"2+b*x-¢/x;
plot(eq3,x=0:.2,y=-100..10);
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plot(eq5,x=0..1,y=-100..0);
1625646672

sgd = 05379324854 2% +1.036629031 5~
X

e
L (~1.594179486 32—3.072082056;{)j o205
cod=| \e (14 0.04430295699 (1.594179486 x+ 1.536041028)7) &~ d

n
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100 100

eq6:=exp(-alpha*x”"2/2-beta*x);
eq7:=(alpha®x+beta)/(m*(1+z))*eq6;
o (=077970857450 X'“J - 1.536041028 x)

sgi = e

o ) (=0.7970297430 ¥° — 1536041028 )
e/ =0 2118670900 (1 594179486 x+ 1.536041028) e
with(plots):
plot(eq6,x=0..2);
plot(eq7,x=0..2);
pl:=plot(eq6,x=0..2,color=blue):
p2:=plot(eq7,x=0..2):
display(p1,p2);
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solve(eqb=eq7,x);
2.000000000
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Abstract

The constituent quark model (CQM) has recently been widely used for the description of the
internal structure of baryons. The baryon spectrum is usually described well, although various
models arc quite different. However, the study of baryon spectroscopy is not sufficient to
distinguish among the various forms of quark dynamics. It would be interesting to consider
the eftect of an extra residual interaction among the quarks, which contains a dependence on
isospin (or flavour). In this work we have introduced an improved form of the hyperfine
interaction and isospin dependent quark potential. What we have done then, is to calculate the
cigenfunctions and the corresponding eigenvalues of the Schrédinger equation for the
considered potential in the non relativistic limit. But, there is no spin term in Schrodinger
equation and as a result there is no distinction between fermions and bosons.

With this motivation in mind, we have calculated the eigenfunctions and the corresponding
eigenvalues of the Dirac equation. Finally we have compared the obtained results. Our study
reveals that the results obtained by our model are very successful in describing the baryon
spectrum and very close to experimental values.

Keyword: Schrédinger equation- Dirac equation- Baryon— Spin- Isospin



